112 2FE5% 2 BHHBESE " K253 (4) ) RRKEBBENE FIFRA

ST E P 1 QNN Uy, Ay “‘Eg = #i3E(Language) - ENG
Y akREHR

= |
- o - EMEREREE
: * EIEREAPPT
| EREERERE
L NEgRES
HOBE PR AR T

STEP 2 R BRI S EC/AUNERT .

EXOEEE EXFREAIE | EASSIOmERN EiRA BEFZEIE vEnE: ¥-EREEIERNESR

B A8 A JESRAR AT

# % 1] %(Language) : ENG

(EAREEE-) HHEEH: 110006108
A RESRNEAOEHR  KESR EREERESRER

.
e e . S——» e e N

Eid SLE-21K-52-A1 o E‘H’ - :: 1 x:xb‘ QrETm ORT? CETm :Is" DA—S D?“V AT LiE 4,;:‘ FEE F-8-9-58 F301 &8
=R 0-8~9-F3& F301 FRE
wa T50-mE F301 B3
mRisE2 T-s-9-58 F301 53

2 |4 DFD31B-01.a1 | TR & ol " ] 3-4-582 L501 iRR3=

3 |B®  DFD-21B01-A1 1§ Bl E e LA | & e I AR —8-9-53 H301 EHR=

4 | DFD2INO4A1 | EEWwwE Tm e Bl TTEE SN N W CEET N N MR e w o W BF=Ra m-2-a-=8 H307 S28=
Thomson

5 | DFD21001A1 | sl = e B C— =22 =222 A6 BERE

6 2 DFD21S04A1 | = 9 Bl ol gL EFHRa H2-4SE H30T S=RE
Thomsen

ERRE14% BE0RS BR0ZD S48
EELELE0RS 023 ER0RS L FEERLRETERANMSES LREE P RENSESY

STEP 3
BhEE THEH R R

Z&tT#(Language) 1 ENG

STEP 4
REBEKERAH T REETE(4)

EMASHES x
*E | E2003ATHZ( v = v nEES
EEE "
BEREHAH | A1990-RERERE ~|
e D04 AR (A BEEE |
GS000- =S ES
oz

GADD1- :931‘.’:



STEP 5

F1S X EEE RIS B, - R EREHE » BT TH#E
B! AZ FEEENME - AEFIAERERF

BERESRAUAERL

%% (Language) : ENG

FT5 RTom(2003] - EE£5452] - X
IRE : IR TEEOFHL  AEERESEZ N EERER

1 1 " LANG21B52A1 AERZ(HZREFEHEA0ER B FLZ 50 - L610
g@ Pt BAEASFCC@G AR - HA=F « BR=Z - BB - HE=Z S5 ER =

=

. p— = = | T 'g;v, g

2 2 g | |LWNCNESIM  XSRLAREREXOES | B-BRDO- 150 2 BRSO RS BT HE=2 - BE=F « QE=Z R R R | —1-2_ ) 0203
-+ L wiizD =s ==
Dn n=
3 & o LANG2IDS2A1 AERTAEBRZEE 2 - B B o . EEE A205
7 3 BREAIIWQE) AR - B F - BH=Z  HE-H - HE=Z 54 1R o
=3 -
4 LANG21D53A1 AFEZ(4)THEEET 2 R 1 =1-2-  Al0T
Bos = AERZ(mEEEAE BRSO QAR » B - Fb =2 - HE-F - OE-Z - R L o P | ot
u=
5 LANGZ1E52A1 =(4) EE > 2 =i L305

wen | B v Z=xl) g ‘;m“‘ FAREASSQIG AR Fe=F B2 - RE=F - AE=Z  RIE4 ER # . =

% B o

— FE&S TRSERE 0 AREEEE  FINESEF u=
(3 LANG21C52A1 2 5=3(4) KASCRE B-Z==P0= 50 2 » . . _ . N EEE =1~2- L1307
5 " v AT RAEARSIQG AR HE=F - B2 - RE=F - HE=Z  B5H ER =

=

STEP 6
BEELSER T RERTEL(4) ) BB BER T I8!




